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int a[5]1={1,2,3,4,5};
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char c[4]={'G','o','o"', 'd"};
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#include <stdio.h>
#define N 5
int main ()
{
int a[N];
int i, Jj, temp;
printf ("Please enter array a:\n");

for(i=0; i<N; i++)

scanf ("%d",salil); / /N A B T R
printf("array a:\n");
for(i=0;i<N;i++) % EE

printf("%4d",ali]);
printf ("\n");
for(i=0;i<N/2;i++) / /B BTG SR B A B 0 R (SR T 5
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}

Jj=N-1i-1;
temp=alil;alil=aljl;aljl=temp;
}
printf("reverse array a:\n"); //%ﬁtﬂ@?)ﬁﬂ’]f&éﬂ
for (i=0;i<N;i++)
printf("%4d",ali]);
printf("\n");

return 0;
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#include <stdio.h>

int main()

{

}
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int days(12]={31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31};

int year,month, day;

int i, sum=0;

printf("Please enter year,month,day:\n");

scanf ("$d%d%d", &year, &month, &day) ;

if(year%400==0 || (year$4==0 && years100!=0)) //F4E
days[1]=29; /7B 2 Ay IR ECh 29 K

for(i=1;i<month; i++)
sum+=days[i-1];

sum+=day;

printf("sd Fod Hsd HREX—4FEMHsd RK\n", year,month, day, sum) ;

return 0;
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#include <stdio.h>
#define N 10
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int main ()
{
int a[N]={7,20,10,3,9,6,12,15,21,32};
int 1, x;
printf("Please enter x:");
scanf ("%d", &x) ;
for (i=0; i<N;i++) / /W FY A 4R BB 55— A DT R OT IR
if(a[il==x) //#E)
{
printf ("Find, the order of x is: &d",i+1);
break;
}
if(i>=N) /1A E
printf ("Not find! \n");
return 0;

}
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JFR Ik . AARWE WA B AR v B SR AT A A S A U R A S IR AS R, X
SR O Y B IR T A Ak BRI L A 0 R A R A W 2 1 R T S HE )

SR T .

#include <stdio.h>
#include <stdlib.h>
#include <time.h>

#define N 10

int main()

{
int a[N]; / /T RAFE 10 A BEPLEL
int i, j, temp, flag; //flag NbREA &

srand( (unsigned int) time (NULL)) ; / /U B X h s E] Sk R
for(i=0; i<10;i++)
{
alil=rand() $100 +1; / /PR 1~ 100 By BEHLER
printf("sd ",alil); / /T B A B B BILER
}
printf ("\n");
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}

for(i=N-1;i>0;1i--) / /o0 B B o HE
{

flag=0; /7B — B HE T S E AR R R R flag MESY O
for(j=0;3<i;j++)
if(aljl>alj+1])
{
temp=aljl;

aljl=alj+1];
al[j+1ll=temp;
flag=1; /7 R A B G  AS e B AR AR R flag FUME R O
}
/AR — B HE Y A R SR R AR BN A A, U RE © A T DU R TR IR L SR AT A R HE) Y
if(flag==0) break;
}
/ /% T R AU a
for (1 =0; 1<10; 1i++)
{
printf("sd ",alil);
}
printf ("\n");

return 0;
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#include <stdio.h>

#include <time.h>

#define MAXSIZE 10

int main()

{
int a[MAXSIZE]={10, 20, 30, 45, 45,50}; /7B I P B a
int size=6; /B a WK E R 6
int i, x;

printf("Please enter x:");
scanf ("sd", &x);
/7B < BUAEAGLE N FERT A 4R D A R F R x RIWTTR
i=size-1;
while (i>=0 && a[i]>x)
{
ali+l]=ali];
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}

ali+1l]=

size++;

for(i=0;i<size;it++)printf("sd ",alil);
printf ("\n");

return 0;
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#include <stdio.h>

int main ()

{

}

7. fRAUE . DL R R R B A R s A X AR B A R S A A

int a(5](51={0,1,2,7,9,1,11,21,5,5,2,21,6,11,1,9,7,9,10,2,5,4,1,4,1};

int 1i,3;
int s=0;
printf ("¥xxx*The array***xx\n") ;
for(i=0;1i<5;i++)
{
for(3j=0;3<5;J++)
{
printf("%$4d",alil[31):
}
printf ("\n");
}
for(i=0;1i<5;i++)
for(3=0;3<5;3++)
if(i==0[]i==4]|J==0]|3==4)
s=s+ali] [J]1*alil[j];
printf ("¥xxx*xThe result*xxxx\n");
printf ("The sum is:%d\n", s)

return 0;
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#include <stdio.h>

#include <string.h>

#define N 10

int main ()

{
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